
qm=; cfof]hgfsf] gfd sfof{Gjog x'g] :yfg ljlgof]lht ? cfGtl/s ;l3+o k|b]z k|sf/ hg;xefuLtf

1

kz'af6 dflg;df ;g]{ /f]ux?df af6 aRg k|To]s a:tLx?df 

cled'lvs/0ff sfo{qmd j8f g ! 100,000               √ j8f 0

2 s[lif ljpmljhg kmnkm'nsf af]6 lj?Jff tyf s[lif ;fduL{ ljt/0f j8f g @ 378,000               √ j8f 0

3

rf/j6} 6f]nx?df btf{ ePsf Joj;fO{s s[ifs ;d'xsf nfuL kf]nLxfp; 

yf]kf l;rfO{ ;]6 ;lxt of]hgf j8f g $ 234,800               √ j8f 0

4

j8f el/sf blnt ckfª, Psn dlxnf, afnaflnsf, c;xfo, cfly{s 

l:yt Hofb} Go'g ePsf afv|fkfng, df}/L kfng, pGgthftsf] af]sf 

ljt/0f j8f g % 200,000               √ j8f 0

6
s'v'/f pTkfbg s]Gb| nfO{ cg'bfg

j8f g & 105,000               √ j8f 0

7 afvf kfng Joj;fo ;+rfngsf nflu ;|f]ts]Gb| :yfkgf j8f g !) 200,000               √ j8f 0

8 gu/:t/Lo s[lif tyf kz' sfof{qmd gu/ 10,362,240            √ gu/ 0

hDdf 11,937,640           

1

s[lif cf}hf/, ljpljhg, kmnkm'nsf af]6 lj?jf vl/b tyf kz'kfng 

;DaGwL cled'vLs/0f tflnd j8f g ^ 357,600                √ j8f 0

2 s[lif ;DaGwL hgr]tgf tflnd j8f g & 50,000                √ j8f 0

3 s[ltd uef{wfgsf nflu kz' k|fljlwsnfO{ tflnd j8f g * 50,000                √ j8f 0

4

kz'af6 dflg;df ;g]{ /f]ux?df af6 aRg k|To]s a:tLx?df 

cled'lvs/0ff sfo{qmd j8f g * 20,000                √ j8f 0

5 e};Ldf nfUg] v/L /f]usf af/]df s[ifsx?nfO{ cled'lvs/0f j8f g * 30,000                 √ j8f 0

hDdf 507,600              

1 Knf:6Ls 6g]n s[ifsx?nfO{ j8f g ! 176,800               √ j8f 0

2 afv|f vf]/ lgdf0f{ of]hgf j8f g &, ?kNnL 100,000               √ j8f 0

3 s[lif cf}hf/ vl/b j8f g $ 100,000               √ j8f

4 kfOk vl/b j8f g % 169,000               √ j8f 0

5 s[lif kmnkm'n v]tL g{;/L lgdf0f{ j8f g & 50,000                √ j8f 0

6 s[lif ljp ljhg tyf Knfli6s 6g]n vl/b j8f g !) 100,000               √ j8f 0

hDdf 695,800              

s'n hDDf 13,141,040           

qm=; cfof]hgfsf] gfd sfof{Gjog x'g] :yfg ljlgof]lht ? cfGtl/s ;l3+o k|b]z k|sf/ hg;xefuLtf

1 pbob]j s[ifs ;d'x xft] 6]S6/ vl/b j8f g ^ 100000 √ j8f 0

2

:jR5df;' k;n ;+~rfng ug{ df;' Joj;fox? cfjZos cf}hf/ tyf 

;fdfu|L ljt/0f j8f g * 50000 √ j8f 0

3

36\6 lgdf0f{ & j6f kf6g )$ auf8L 

uf8
                500,000 

√ gu/ 100,000.0   

hDdf 650,000              100,000     

qm=; cfof]hgfsf] gfd sfof{Gjog x'g] :yfg ljlgof]lht ? cfGtl/s ;l3+o k|b]z k|sf/ hg;xefuLtf

1 ko{6g kj{4g of]hgf 400,000              √ gu/

hDdf 400,000             
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